6802BV

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

n

@ooxlmm.hmm—\)a
E=3

/ |

b A A &

Part ID
4112970
443028-9
152279-0
411293-8
232050-9
216001-0
133459-7
231139-0
153133-1
254031-3
325485-2
212057-1
261038-2
154952-8
156879-8
343693-3
815289-5
911185-6
156467-1
263002-9
911261-6
911271-3
213363-7
213404-9
157842-4
261039-0
253786-7
211033-2
263002-9
241881-5
515156-1
413045-3
211028-5
253192-6
628112-3
643552-4
911124-6
191956-9
194971-2
650206-6
650207-4
651271-8
651271-8
682502-4
687002-9
911133-5
651478-6
411852-8
154965-9
155283-8
911153-9
664064-4
784804-5
122213-4

Parts Breakdown

Part Name
FELT COVER, 6801DBV
FELT RING, 6802BV
LOCATOR 5/16, 6802BV
LOCKING SLEEVE, 6801DBV
LEAF SPRING, 6820V
STEEL BALL 3.5, 6800DBV
N/A
COMP. SPRING 9, 6800DBV
GEAR, 6802BV (TYPE 2)
WOODRUFF KEY 3, 6801DBV
GEAR SHAFT,6800DBV
T.N. BEARING 1023, 6801DBV
WASHER 10, 6802BV
MOTOR HOUSING CPL., 6802BV
N/A
HOOK, 6805BV,T2
NAME PLATE, 6802BV
P.H. SCREW M4X55, 1923B
GEAR HOUSING, 6802BV
RUBBER PIN 4, HR2400
P.H. SCREW M5X40, 9900B
P.H. SCREW M5X50, JN3200
O RING 23, 6802BV-T1
O RING 27, 6000LR
GEAR HOUSING COVER, 6805BV, 6802BV
URETHANE WASHER 14,9005B
F. WASHER 14, 6802BV
B. BEARING 608LB, 5091D
RUBBER PIN 4, HR2400
FAN 52, 6904VH
ARMATURE, 6805BV, 6802BV
BAFFLE PLATE, 6805BV
B. BEARING 627LB, 6510LVR
F. WASHER 14, HR2400
FIELD,6820BV
BRUSH HOLDER, BO5012K
P.H. SCREW M4X14, 6402
CARBON BRUSH 75, JR3000V
CARBON BRUSH SET CB-75, JR3000V
SWITCH, JR3000V
SWITCH,HP2010N
SWITCH, JR3000V
SWITCH, JR3000V
CORD GUARD 8-85, HP2010N
STRAIN RELIEF, 9217SPC
P.H. SCREW M4X18, N9501B
SWITCH, REVERSING, 6302H
SWITCH COVER, 6805BV
HANDLE COVER CPL., 6802BV
HANDLE COVER, 6802BV
P.H. SCREW M4X28, JR3000V
CORD (2X18X8 SJ), HR2400
5/16 NUT SETTER, 6802BV
5/16 LOCATOR ASSY, 6802BV

Page 2 of 2

Quantity

P . Y @F = N U W W b S N W e N T = Ve W\ N |\ [ N W N U W S N T T Y VU U N\, I U WL W ) R S N N e e T T T i VU N (s U W W .

6802BV

8/18/2010



